Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: B_IRS10_Z46N_NO Plapr = (L =L ) [ w-L¥y)
Buntton: h* = 36/360;h* ¢ = 244/360

atg=a* —ary -~y [afy —aty]

b*a =b* = b*y = *japs [b*w —b*y ]
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: B_IRS14_Z47N_N4 g = (L =LA ) [ W =L )
Buntton: h* = 38/360;h* ¢ = 240/360

atg=ar —aty ~ e [atw @]
= b*N = e [*w —b*N ]

" = 5 2 2
Ctapa=[a% +b%]
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (alCIELAB ( C*gp o L*)
System: B_IRS25_Z48N_N5_VT092 |« b = (L =L )/ w-L*N)

atg=a* —ary -~y [afy —aty]
b*a =b* = b*y = *japs [b*w —b*y ]

Helligkeit L*T Craba=[a% +b%]

Buntton: h*q = 40/360;h* ¢ = 235/360
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Beziehung CIELAB (L*, a*, b*) und adaptiertes (aCIELAB ( C*p o L*)
System: B_IRS14_Z48N_N5_VT100 |« b = (L =L )/ w-L*N)
Buntton: h* = 38/360;h* ¢ = 240/360

atg=ar —aty ~ e [atw @]
= b*N = e [*w —b*N ]

" = 5 2 2
Ctapa=[a% +b%]
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Buritheit C*p a




Beziehung CIELAB (L*, a*, b*) und adaptiertes (alCIELAB ( C*gp o L*)
System: B_IRS23 Z48F_N5_VT092 s = (L — L%\ )/ Ly -L*y )

atg=a* —ary -~y [afy —aty]
b*a =b* = b*y = *japs [b*w —b*y ]

Helligkeit L*T Craba=[a% +b%]

Buntton: h*q = 40/360;h* ¢ = 237/360
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